<o @> (rad)

< 00, > (M)

RatioI

< op/p. > (o)

Ratio

o
[N

A
z F
0.15 RO S R R EEEEE R ICCEERREEEEEEE
QO -
Ie) r
0.1 Vo OO e
0.05 0.05F -+ -rerrr g
0 0:— ------------------------------------------------
-0.05 0,05 - rr et
-0.] —0 A
-0.15 (1| e EREEETS EEPPERTT SRPRPRPR: EEPEPEPL S FLPIPL: DRERERD

0.95
TP n (PCA to beamline) TP n (PCA to beamline)

—s=— DQM_V0001_R000000001__Global__mkFitOLD__RECO
—— DQM_V0001_R000000001__Global__mKkFitNEW__RECO

100r

®
o
I

o
=]
I

N
o
I

N s S o -

................

................

=3 -2 -1 0 1 2 3 =3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

oa
e |
. ] e oo ]
1.0
| SRR T P ¥ P P Y EEE TEFTErETS

2322 -1 0 12 3
TP n (PCA to beamline)



	Contents
	Page 1


